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REELR — 5 FIXT 5 2R A

> manager <- c¢(1,2,3,4,3)

P ‘éj .E;Z (VeCtO r) . él—gcéﬂ (a l’l’dy) . > Datedata <- c("10/24/08","10/28/08","10/1/08","10/12/08","5/1/09")

> country <- c("US","US", "UK", "UK", "UK")

4B Fi (matrix) N % (facto r) . > gender <- (™", "F","E", "" "E")

‘94 AL AC a8 oo
> age <- C(3d,49,49,34,49Y)

5'] %&(“St) N ébﬁ}}}%?}[i_(data > ql < ¢(3,3,3,3,2)

"

» . A > @ ¢ ¢(4,5,5,3,2)
ﬂ'ame) N ﬁ'é&(ﬂlnc’f‘on)% o > 3 ¢ c:js.,z,a,é,'_]

> g4 <- c(5,5,54,2)

* j‘; ‘:P E‘%‘{fg‘éﬁ 51’:( ﬁ] 7{7 datd >05 < c(5,5,20,0)
frame, FedEMERDUAGLEM, | o sty
§l] 7\%2: Ig] é’% éﬁ}iﬂﬁ‘% : /fi—/’\% » leadership

manager Datedata country gender age ql q2 q3 qd gb

HL| /l\ﬁiéﬁéki’fﬁ\ R ;T{—_%, 1 110/24/08 U5 M 32 5 4555
. T s s . 2 210/28/08 U5 F 45 3 52 5§
Ef&ﬁ%iﬂb#\%i?}ﬁi‘]‘éy\#ﬁé}i%}%o 3 3 10/1/08 UK F 2535552
: $10/12/08 WK M 33 03 3 4NANA
5 5 5/1/08 W F 9922121



AY 7N

>

d

A8 ERF R E &

(27°3)/2 >= 2 -> x:X

y <-c(1:10,NA,NaN,"\n a

\t");y
y == NA;is.na(y);

Yhignay)l

3)/2 >=
[1] TRUE
>
> v €<— c(1:10,HA,HaN,"\n a \t");v
[1] "i- mon mgw
[6] -6" 'l’]" "8'
[11] NA "NaN™ "\n a \t"
>
> v = NA;is.na(v):

[1] NA NA NA NA NA NA NA NA NA NA
[1] FALSE FALSE FALSE FALSE FALSE
[9] FALSE FALSE TRUE FALSE FALSE

>

> y['is.na(v)]
[1] '1" "2" "3'
[6] "6" "7" "8.

[11] "NaN" "\n a \t"

-4. .Sﬂ

NHA NA NA

FALSE FALSE FALSE
'4' '5'

-g' '10'



RETIEMH (—) -- kot

). B0 ) LESR A )5 —

CRREUR [F— 41
2l R — )

F N8 A Aok E 6 X %2

> age <- c(1,3,5,2,11,5,3,5,12,3)
> age
1] 1 3 5 211 98 3 9 12 3
> age[l]
[1] 1
> agel[2]
[1] 3
> agel[2,1]
BB Tager2, 11 : EEFFEF

> weight <- c(4.4,5.3,7.2,5.2,8.5,7.3,6.0,10.4,10.2,6.1)

> mean (weight) s
[1] 7.06 mean PR G [B13{E

> =d(weight)

[1] 2.077498

> cor (age,weight)
[1] ©0.9075655

> plot (age,weight)
> |

plot PREIEF T2 14

IR R Graphics: Device 2 (ACTIVE)

= )

10

weight

ALIER], X104 2 LR FIAEZ7.06 kg, tnifiZE2.08 , HigFik
HZ A A TERGR ARG R (MR = 0.91)
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REGEIBM (=) - RPEEIE o

b Y- 4 > png ("lm.png")
o — % SR G T IR 4 -
> fit <T"12Fwe1ght age) hﬂLJﬁ&l_TT[jlﬂjffﬁ > plot (age,weight) abhne éiﬁﬁﬁﬂé%iégﬁ
> swmmary(fit) > abline (fit) 1
> title ("Regression of age on weight™)
Call: - .
1m(f 1 L aht > dev.off()
m(formula = wel ~ age S .
( ¢ o) summary PRER [9] [5] 5 73 Afr null device
133 -+ 1
Residuals: Hﬁﬁﬁéﬁéﬂ;& N
Min 190 Median 3Q Max
-1.24986 -0.44858 0.07642 0.32107 1.85014
Regression of age on weight
Coefficients:
Estimate S5td. Error t wvalue Pr(>|t])
(Intercept) 4.35962 0.52985 8.228 3.57e-05 ##%
age 0.46558 0.076l6 6.113 0.000285 ##*
Signif. codes: 0 “#*#**f (0,001 ‘*#*f Q0,01 **f Q.05 . 0.1 * " 1
Residual standard error: 0.9253 on 8 degrees of freedom
Multiple R-squared: 0.8237, Adjusted R-squared: 0.8016
F-statistic: 37.37 on 1 and & DF, p-value: 0.0002853 =
2
> coefficients (fit)
(Intercept) age
4.3596206 0.4655827
> coefficients (fit) ["age"] | Qﬁ%&ﬂil:][]&ﬂﬁ}éﬁé%
age *-———-_________j E‘ ¥
0.4655827 % /J?%ﬁ[
o
. | T T T T T T
3\3\,“5] ﬁ‘éﬁ@)j ‘J"-—év] 2 4 6 8 10 12
weight=0.46558%age+4.35962, R A age

0.8237, pffkdy, BEA bk B %



RGBSR (=) — HERE

. JEELREE I A 2R 2 K 2= Sinc({x +y?) 2= Sinc(é+7)
yjﬁléo FHRIEI‘—A/I\3D7J<?%O

X </ seq(/ 10,10, length.out=50)
y </ X

rotsinc </ function(x,y){
sinc </ function(x) {
y </ sin(x)/x;
ylis.na(y)l </ 1;y}

10 *sinc( sqQrE(x~2+y”™2))
}

sinc.exp </ expression(z == ‘ .
Sinc(sart(x~2 + y~2))) z=Sinc({x*+y?) z = Sinc(12 +y?)

z </ outer(x, Yy, rotsinc)

par(mfcol=c(2,2))

persp(Xx, Y, z, theta = 0, phi = 0, expand
= 0.4, col = ‘lightblue‘)

title(main = sinc.exp) y

. b A2 MUES, perspifi%l: theta gives the azimuthal J5{iiffi direction and phi the colatitude 4345 .



RERBAMAHE () AL

Bl >MAESE, FAZACSVIAE,
setwd(“E:/R") #1'E a1 TAEX 1%

dal_file </ paste(getwd(),

‘/M3DATA/ 14/ 11.csv‘,sep=)
da2_file </ paste(getwd(),

‘/M3DATA/ 14/ 12.csv‘,sep=")
da3_file </ paste(getwd(),

‘/M3DATA/ 15/ 01.csv‘,sep="*)
da4_file </ paste(getwd(),

‘A EMREL.csV sep="¢
# IR ASCIF AR

dal </ read.table(dal_file,header=TRUE,sep="
da2 </ read.table(da2_file,header=TRUE,sep=*
da3 </ read.table(da3_file,header=TRUE,sep="
da4 </ read.table(da4_file,header=TRUE,sep="
#{li fread.table ki3 A LUZ 571 fa Hy csv AU

")
")
)
")

ALL_DATA </ rbind(dal,da2,da3)

H#HP NG I EHRAE
T % RODBCfY., xlsxfd. xmlfl. Rcurltl,. foreignty



REGRIBMER () ) XEHREEE

all_dat1 </ all_dati[which

———

(all_dat1% blk = F¢),]
FEAT TR A BIRE

code

fit.reduced2 </ glm(paid ~ hwife + tot + year
+mo+tmp mnt n+d2+d3+d4+d5+d7 +
d8 +di12 +d14 +d15+d18 +d21 +d22
+act 4 +act 9 +csc3 +blk Q +blk R+ blk C
+fl +f2 +f4 +f5+f9 +f15
,data=all_dat1,family=binomial(link = ‘logit))

N

i HelmpR B T #0 &, YEHbinomial /3 ( —
S W) , logit PR%L,

glmElGeneralized Linear Models, fiiiljEH{di Hpredict() &%k,

Coefficients:

Estimate Std. Error
(Intercept) 1.8498762 0.03€358¢
hwife -0.141951¢é 0.0533418
tot -0.0082002 0.0004007
year -0.0229995 0.0010239
mo 0.0071511 0.0002%910
tmp_mnt_n -0.015883¢ 0.0020484
dz -1.0243843 0.054714¢
ds 0.879996e5 0.0438020
d4 0.5889544 0.1501087
ds -1.4326257 0.0€17948
d7 -1.5809470 0.0737020
ds 2.682314e 0.7228¢624
dlz -1.12€0582 0.1183503
dl4 1.8856€724 0.3348744
dls -5.0695732 1.0082313
dis 0.501e4€0 0.0258154
dz1l 0.5253948 0.0252341
dzz 0.2€04518 0.0231658
act_4 -0.5222931 0.0162385
act_3 0.2380700 0.0815285%
csc3 -2.8439165 0.7155650
blk Q -0.1358147 0.0533882
blk R -1.0015431 0.0318877
blk C -1.0220€94 0.02089&32
£l -0.4552348 0.0168339%
£2 0.371020€ 0.1084140
£4 -1.1753012 0.05774%8
£5 -0.52€9201 0.0389885
£ -0.5444500 0.0771402
£15 -0.494¢6641 0.0323834
Signif. codes: 0 ‘%%%’ (0_001 ‘%%

z value Pr(>|z]|)
50.879 < Z2e-1lé
-2.6€61l 0.007787

-20.46¢6 < Ze-1l¢

-22.462 < Ze-le
24.571 < Ze-lé
-7.759 8.55e-15

-10.815 < 2e-1l¢
20.090 < Ze-l¢e

3.924 8.72e-05
-23.184 < Ze-1l¢
-21.451 < Ze-1l¢

3.711 0.000207

-9.511 < Z2e-16
5.€31 1.7%e-08
-5.028 4.85e-07
19.432 < Ze-lé
20.821 < Z2e-1lé
11.243 < Z2e-1lé

-32.1¢é4 < Ze-le

2.906 0.003¢€€3

-3.974 7.06e-05
-2.544 0.0105%&2

-31.421 < Ze-1¢

-48.755 < Ze-1l¢

-27.043 < Ze-1¢

3.422 0.000621

-20.352 < Z2e-1l¢

-13.511 < Z2e-1l¢
-7.058 1.6€8%e-12

-15.275 < Ze-l¢
0-0Y-*%r Q.05

glm= )3 25 R 6 4
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R (75) —ROCS5AUCHQ1)

getROC </ function(fit,obj,reduce){

pre </ predict(fit,type="response’)

#RE TR prob M SLFRE 2R pai d e — Bl HE

len </ length(obj)

dis </ len/ length(pre)

data </ data.frame(prob=pre,obs=obj[c(dis+1): len])

HAL T E MR 2 = HE Y

data </ datalorder(data% prob),]
n </ nrow(data)

data </ data[seq(1,n,reduce),]
tpr </ fpr </ rep(0,nrow(data))

#HRAE AR G A fEthresholdit A TPR HIER REE FPR
for (iin seq(1,nrow(data)) ){
threshold </ data% probli]
tp </ sum(data% prob | threshold & data% obs == 1)
fp </ sum(data% prob | threshold & data% obs == 0)
tn </ sum(data% prob < threshold & data% obs == 0)
fn </ sum(data% prob < threshold & data% obs == 1)
tprli] </ tp/(tp+fn) #HIEX
fprlil </ fp/(tn+fp) #EIEHR
}

plot(fpr,tpr,main="ROC HiZk’ type="p’,
xlim=c(0,1),ylim=c(0,1),col="blue’)



R (75 ) --ROCE5AUCIH(2)

###) | | AUC/ | | ###
roc_dat </ data.frame(TPR=tpr,FPR=fpr) ROC i £8
roc_dat </ roc_dat[which(roc_dat% TPR =0 &

roc_dat% FPR 1=0 ),] <
roc.fit </ Im(TPR ~
I(FPR™4)+I(FPR™3)+l(FPR”™2)+FPR ,data=roc_da g _|
0

©
roc_line </ coefficients(roc.fit) o
auc </ roc_line[1] + (1/5) * roc_line[2] + (1/4) <
*roc_line[3] + (1/3) * roc_line[4] + (1/2) * o 7
roc_line[5]

™
# IR B R, FRACE U <
rm(pre,len.dis,data,n,tp,fp,tn,fn,roc_dat,roc.fit, o |
roc_line) S 4 | | | T |
9¢0) 00 02 04 06 08 10
#iR [l 25 R fpr
roc.out </ list(tpr=tpr,fpr=fpr,auc=auc)
}

Sauc

#1}%]}2{{][%[7}‘& (Intercept)

getROC(fit.reduced2,all_dat1% paid,20) 0.6898663
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RIFBT—KIJ(ERRE

K¥ Lk % (K- Means
Clustermg)iﬁ] TRAFAGHERE
X, ARG REZIRTRE

X <- rbind(
matrix(rnorm(100, sd = 0.6), ncol = 2),
matrix(rnorm(100, mean = 2, sd = 0.6),

ncol = 2),
matrix(rnorm(100, mean = 4, sd = 0.6),
ncol = 2),

matrix(rnorm(20, mean = -3, sd = 0.6),
ncol = 2)

)

colnames(x) <- c("x", "y")

cl <- kmeans(x, 4)

cl

plot(x,col = cl$cluster,main="K¥{g 3
gzt K-means Clustering")
points(cl$centers, col = 1:4, pch = 8§,
cex = 2)

=

K ¥4 2 K-means Clustering




RIEBT—KIERKHAFIL S

K B4 E K-means Clustering
FHIRHEDR :

Totss <
The total sum of squares.
N —
Betweenss
The between/ cluster sum of > o
squares.
("I\I ]
withinss o o
Vector of within/ cluster sum of 4. ° °
squares, one component per cluster. o
HERE . AEASZH A0 i B R 2S5 R | | | | |
-4 -2 0 2 4
X
Within cluster sum of sguares by cluster: Within cluster sum of squares by cluster:
[1] 30.027774 31.999207 7.615486 36.189445 [1] 4.153859 198.182116 34.352290 18.899446
(petween S5 / total S5 = 92.5 %) {(between 55 / total 55 = E1.8 %)

2 rea R oy . > cliwithinss

> 1-(clétot.withinss/clitotss)

[1] 0.924721 [11] 4,153859 198.182116 34.352290 18.89944¢

> c’:;‘ze » 1-(clétot.withinzz/clétotzss) #1-(sum(cléwithinszs)/clitotss)

[1] 51 48 10 51 [1] O.8181987



R.‘:

I B G HUSVM): — Fk 25 M Fe JF 25 ME Hk
Ve For ik, B E LA R
W RIS SN, RN N
AR BT E,

Bl ARG T 50
n =100

r = runif(n);a = 2*pi*runif(n)
al = r¥sin(a);a2 = r*cos(a)

r = 2+runif(n);a
bl = r*sin(a);b2

2*pi*runif(n)
rxcos(a)

X =

rbind(matrix(cbind(al,a2),,2),
matrix(cbind(b1l,b2),,2))

y <- matrix(c(rep(1,n),rep(0,n)))

ro_dat <-
as.data.frame(cbind(x,y))

-0V - - - -1 __ I _ 1\ -

%1

-Br—3dEZR P S FEm &ML Non—Liner SVM(1)

,"%
X "") ;
i ‘000
x x XX ,foo O 00
X/ 79 9% 00
X "/ g0 0 9
o O 0
o o O
OOO Oo <@ @ g <@ . (;Il
°, ¢ o eo %o % e
oo @ 2 g @
OO OOO
m 8
o
[
0 %O & 5)
® o
o o 2
oo o o, o
@ . @
°$ o 9050 ©
I I I I
2 0 1 2 3
%2




Rt Br—AELe P 2 #F ) &1L Non—Liner SVM(2)

. B RASVMATH AT %
library(e1071)

SVM classification plot

radial.svm.fit </ svm(y ~ .,
data=ro_dat,C=100,
type=C/ classification¢,
kernel =’radial’,
probability=TRUE);

summary(radial.svm.fit);

plot(radial.svm.fit,data=ro_dat)

Parameters:
SVM-Type: C-classification
5VHM-FKernel: radial
cast: 1
gamma : 0.5

Humber of Support Vectors: 17 -2 -1 0 1 2

{ 7 10 ) X2

Humber of Classes: 2

Levels:
01

FARHIM (MERRE ) . mean(with(ro_dat,ifelse(y == predict(radial.svm.fi



RFEHr—FPRESVMBY L : SVMSKEMER
%’éﬁﬂ““ﬁv%

SVMEER ¢ B 2« EB R T &

KEEREEREEARER

He = AR AR B AR

Bl B R AR |

resid.m </ m/ fitted(cl) N
SumOfSquare </ o
function(x){x[1]1™2+x[2]"2} o |

#IF IR Ir

inpoint </ O
m[which(apply(resid.m,1,Sum NN
OfSquare) < 0.5),] O,
#IRIN, AR vH° °




RiEM—BR E 22 M 4% Neural Networks (1)

AP T ik, R

200 & =

B LA AR, . A A

o SRR AP 22 75 3 8 BT A A= o i =

HAT AT ARG PO, A

o R AP Z LI AZ N ERE v, i il

o B R HALAY B TAENAZ LI T 8 o
O ST @)

ABRBAL Y RTH. L e o ©

2250 (ZEET) J 2T REE ®) i

MG R B M L%, VT HALE (@)

AT IR AR e fE, 453 EST

WL RE. RN, R HRTT

FRE9AE B 40 22 9] 2R



REH—BR E 22 M 4% Neural Networks (2 )

Wl AR EAP 22 W LT

+ =4
Eé‘/f{‘é/j anﬁ]’o > head(iris,5)
Iibrary(nnet) Sepal.Length Sepal.Width Petal.Length Petal.Width Species
1 5.1 3.5 1.4 0.2 setosa
. . L. L. 2 4.9 3.0 1.4 0.2 setosa
ir </ rbind(iris3[,,11,iris3[,,21, 3 4.7 3.2 1.3 0.2 setosa
iris3[,,3]) 4 4.6 3.1 1.5 0.2 setosa
targets </ class.ind( c(rep(‘s‘, 50), rep(‘c’, S 5.0 3.6 1.4 0.2 setosa
50), rep(‘v¢, 50)))
samp </ c(sample(1:50,25),
sample(51:100,25), sample(101:150,25))
irlt </ nnet(ir[samp,], targets[samp,], size =
2,rang = 0.1 ’decay = 5e/ 4, maxit= 200) > test.cl(targets[-samp,], predict(irl, ir[-samp,]))
cres
trae: 1. 2- 3
o i 125 0 O
Size:[& BEAY Z UHF, rang 4L eI ELH 2 025 0
testrcl &/% functiontrué fored) { 3 3 022

true </ max.col(true) >
cres </ max.col(pred)
table(true, cres)

}
test.cl(targets[/ samp,], predict(irt, ir[/
samp,l))

5 (yuan) B, —MEREEMY), APARSPRM R E S AR,



7 &R



I ER-H & XEEY R,

5] sqldfAE % 6., FF H sqlig &) = mtcars
PR B E T K T4 2094 K13 8

install.packages(‘sqldf)

library(sqldf)

newdf </ sqldf(‘select * from mtcars where
wt | 4 order by mpg‘,row.names=TRUE)

> newdf <- sgldf("select * from mtcars

+ ,row.names=TRUE)
> newdt

mpg cvl

Cadillac Fleetwood 10.4
Lincoln Continental 10.4
Chrysler Imperial 14.7
He;c 4505E 16.4

8

8
8
8

disp hp
472.0 205
460.0 215
440.0 230
275.8 180

where Wwt > 4 order by mpg"

drat Wt gsec vsE am gear carb
2.93 5.250 17.98 0 O 3 4
3.00 5.424 17.82 0 0O 3 4
3.23 5.345 17.42 0 0O 3 4
3.07 4.070 17.40 0 O 3 3

e - '
cgsk\,)"" « %t » R » |z

HA v g
£

& chron_2.3-45.zip
¥ DB1.0.3.1.zip

B gsubfn_0.6-6.zip
B proto_0.3-10.zip
¥ RsQlite_1.0.0.zip
B sqldf 0.4-10.zip
B tcltk2_1.2-11.zip



I ER-7 RN

PR [k

foreign [E2HtMinitab. S. SAS. SPSS. Stata®F#{i-fiikr%dE .

ggplot2 [k mmE RN ERS, MTRIEFH. mEMEE.

kernlab  ERMFIHELMERISVM TR, AL ZR9% K%L

playwith [HTZERETE, LIRE S H P EIE St

RCurl Slibeurl ZEHFHTTPHMYAS B4

reshape AL — R EE | RS A B T B

ROCR i A I ROCZE T .H.

RODBC  |ODBCHf/EVim4E M .

sqldf SR R EHEAE I SQLERAE o

tm AL — RPN ORI R AL, AbPRAEZE R SOAR
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